Net lonic Equation Worksheet Answers

Write balanced molecular, jonie, and net jonic equations (NIE) for each of the following reactions. Assume all reactions occ urin aqueous solution.

1. 2NaCl(aq) + Pb(NOsh(aq) =
Tonic Equation: 2Na*(aq) + 2CT (aq) +
NIE:  2CI(aq) + Pb*(aq) -
2, Na,CO;(aq) + FeCly(aq) -
Ionic Fquation: 2Na'(aq) + €04 (ag)
NIE:  CO;"(ag) + Fe'*(ag) -
3. Mg(OH)y(aq)  + 2HCl(ag) -
Tonic Equation: ng(aq) + 20H (aq)
NIE:  20H (aq) + 2H'(aq) -
(your final answer would be: ~ OH'(aq) + H'(aq)
4. K(GOyaq)  + CaClaq) -
Tonic Fquation: 2K'(aq) + CgOf'(aq) +
NIE: G0, (aq) + Ca™(aq) N

5, ANH, POy (aq) + 3Zn(NOs)laq) —
Tonic Fquation: 6NH,"(aq) + 2P0, (aq) + 3Zn*aq) +

NIE: 2P0, (aq) + 3Zn*(ag) -
6. 3LiOH(ag) + VCl(aq) S
Tonic Equation:  3Li"(aq) + 30H (aq) +

NIE:  30H(aq) + V¥aq) N
1. Na,CO;z(aq) + 2HCl(aq) -
[onic Equation: 2Na+(ﬂq) + CO_;E'(aq)

NIE:  COy (ag) + M (ag) N

8. Mg(NOsh(aq)  + Na,CrOy(ag) =

PbCly(s) + 2NaNO;(aq)

Pb(aq) + 2NOy (aq) - PbCL(s)+ 2Na*(aq) +
PbCls)

FeCOs(s) + 2NaClfaq)

+ Fe¥'(ag) + 2CI (ag) = FeCOx(s) + 2Na'(aq)
FeCO;(s)

MgCly(aq) + 2H,0(1)

+ M (ag) + 2CTag) = Mg™ag) + 20T (ag) +
2H,0(1)

- H,0(1))

2KCl(ag) + Ca(C,0,)(5)

Ca™(aq)+ 2CI (aq) = K (aq) + 2CI (aq) + Ca(G04)s)
Ca(C,04)(s)

GNH_;NO;(III]) + Zn;(PO;)z(S)

6NO; (ag) — 6NH,"(aq) + 6NOy(aq) + Zn3(POy)y(s)

7Zn3(PO(s)

3LiCl(aq) + V(OH)y(s)

Vag) + 3CT (aq) — 3Li*(ag) + 3CT (aq) + V(OH)(s)
V(OH)s(s)

2NaCliaq) + COy(g) + H,O(l)

+ 2H'(aq) + 2CI'(aq) = 2Na(aq) + 2Cl(aq) + COs(g) + HO(1)
CO:Ag) + H0(0)

2NaNO;(aq) + MgCrOy(s)

Tonic Fquation: Mg™*(aq) + 2NOy(aq) + 2Na*(aq) + C10,7(ag) —» 2Na'(aq) + 2NOy(ag) + MgCiOu(s)

NIE:  Mg*(aq) + Cr0, (aq) N
9, 2FeCli(aq) + 3Meg(s) -
Tonic Fquation: ZFeH(aq) + 6CT (aq) + 3Mg(s)
NIE:  2Fe™(ag) + 3Mg(s) =

MgCrOy(s)

3MgCl(aq) + 2Fe(s)
- Mg (aq) +
Mg (ag) + 2Fe(s)

6Cl (aq) + 2Fe(s)

INOx ag)

+

M0(1)

2Cl (aq)



